Worksheet 111 (2024-25)
Class — IV
Subject — English

Q.1

Read the passage carefully and answer the following questions-

A beggar found a leather purse that someone had dropped in the market place. Opening it, he
discovered that it contained 100 pieces of gold. Then he heard a merchant shout, “A reward! A
reward to the one who finds my leather purse!”

Being an honest man, the beggar came forward and handed the purse to the merchant saying, “Here
is your purse. May I have the reward now?”

Now answer the question-

What did the beggar find?

Where was it dropped?

What he find inside it?

Who was shouting in the market?

What beggar did after hearing the merchant’s shout?

Choose the correct answer -
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For breakfast, Puran sent —
a. fresh vegetables b. fresh fruits  c. fresh plants
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In Washington, Nek Chand created sculptures for the —
a. Paris museum b. citizens of Berlin c. National Children’s Museum

At the bottom of the weighing scale was stuck a
a. gold coin . silver coin C. piece of rock

Wing Tip the Spick loved her very much
a. villagers b. uncles C. rusty tars

was standing in the fields —
a. Farmer b. Boy C. Scarecrow

w

Fill in the blanks -

Nek Chand was awarded in 1984.

Sanctuaries were built to number of

used to visit Puran every summer

Rock garden is situated at

There is a statue of in the public square.

Write true or false for the following statements-

Roses looks pink in the summer twilight. ()

Wing Tip loved her uncle very much. ()

Ali baba’s helper name was Kasim. ()

Puran was the owner of the bungalow. ( )

King Midas lived in ancient Greece. ()
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Do as directed
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Write the correct Plural form of the given nouns-

country, tooth, key, party, gentleman

Fill in the blanks with correct personal pronouns

Sometimes (She/We) takes me along.

( I/Me) will be very thankful to you.
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Write the correct Article (a/an/the) before each noun-

heir , dozen eggs, umbrella, honour, planet

Rewrite the sentences in present continuous form-

Mira and Mina sit at the back.

It rains heavily.

Complete the following table of Positive, comparative and superlative degree

hot

true

busy
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Answer the following questions with reference to the context-




What is green? The grass is green,
With small flowers between.

What is green?

What is growing between the grass?

They were made for men you see.

What was made for men?

How should clothes for men be?

Answer the following questions -

Who visited Puran every summer?

What is a tiger’s diet in the wild?

Why did Apollo laughed at Pan?Who was Kasim? Was

Who was Kasim? Was he a good Man?

How was the rock garden saved in 19967

Write five ways by which one can take care of a sapling.
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Write a short paragraph on any one of the following topics-
1. Junk food 2. Har Ghar Tiranga
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Write an application to the school Principal requesting her to grant you five days leave in next
week as you have to attend your uncle’s marriage in Mumbai.

OR
Your friend came first in the class in his annual examination. Write a letter to him/her
congratulating on his/her success

Q.10

Write an essay on “Olympic Games”




SUBJECT- HINDI
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SUB- MATHS

Q.1 | Tick the correct answers.
I. | A mixed fraction is a combination of a whole number and a .
a. Improper fraction b. Proper fraction  c.Numerator d. Denominator
ii. | Like fractions have same
a. Numerator b. Denominator c¢. Whole number d.Value
ii. | A fraction with numerator 1 is called a fraction.
a. Improper b. Mixed c. Unit d. Equivalent
iv. | Afractionisa part of a—
a. Number b. Whole c. Denominator d. Numerator
V. | Smallest prime number is-
a. 1l b.2 c.4 d. 10
Q.2 | Fillin the Blanks.
I. | Equivalent fractions represent value.
ii. | Only even Prime number is :
iii. | A number has number of factors.
iv. | When a number is divided by 1 the quotient is always
V. | The product of any number with 1 is always
Q.3 | Match the pair.
| cceLxv a2
ii. | Divisible by 3 and 9 both b. | 40000
ii. | Divisible by 3 not 9 c. |8127
V.1 80 x 500 d |2
v. |512x200 e. | 5001
vi. | Proper fraction f. 102400
vii. | Improper fraction g. | 365
Q.4 | Do as directed.
I. | Arrange in ascending order -
7 3 8 1 5
13' 13’ 13" 13’ 13
Arrange in descending order —
9 7 1 4 5
17'17° 17" 17 17
ii. | Find quotient and remainder for 56712 +1000
iii. | Find the product 497x50
iv. | Write the number name of 984578
v. | Write in expanded form 109870
vi. | Write in standard form 400000+ 3000+70+5
vii. | Form a smallest five digit number by using digits 5,0,2,6,4
viii. | Write Successor of greatest four digit number.
iX. | Find 5 equivalent fraction of %
X. | Write first 7 prime and composite numbers.

Solve the following.




Solve the followings.
9 7 17 9

a —+— = - =

15 15 " 23 23

Convert in Improper fraction.

a. 5— b. 8~
13 19
iii. | Convert in Mixed fraction.
a2 b. 2
7 9
iv. | Find the H.C.F. of following numbers.
a. 12,32,36 b. 15,35
v. | Find the L.C.M. of following numbers.
a.4,8,12 b. 3,9
vi. | Estimate the sum and difference by rounding off to the nearest 100s.Also Find actual sum.
a. 4321 + 8765 b. 6549-3865
vii. | Check whether the fractions are equivalent or not?
7 8 9 6
T and I b. Py and s
viii. | Find the prime factorisation of given numbers using factor tree method.
a. 108 b. 96
iX. | Divide and check your answers.
a. 758 + 13 b. 8157 + 35
X. | Find the product.
a. 1367 x 42 b. 6583 x 172
xi. | Solve the following.
a. g of 81 b. % Minutes of an hour.
xii. | Amit and Paul took 68 minutes to reach school. If they walked for 1/4 of total time and went
by bus for the remaining time then how much time did they travel by bus?
xiii. | Godown had 75600 bags of potatoes. 13890 bags were taken out on Saturday and 27325 bags
were taken out on Sunday. How many bags are left in godown now?
xiv. | If monthly school fee of a child for 4 months is X 25600, then what will be the fee for 12
months?
xv. | Find the sum of first five composite numbers.
xvi. | Find the difference between the 8" multiple of 17 and 4" multiple of 8.




SUBJECT - SCIENCE

Q.1 Choose the correct options:
I There were toys scattered on the floor of Tina’s house. Which accident can happen?
a. Playing b. Skipping c. Slipping d. Dancing
ii. | A princess was watching the night sky from her palace. She saw a beautiful constellation.
Which of the following is a constellation?
a. Big dipper b. Sun. c. Moon. d. Mars
iii. | One feature of submerged plants is that
a. They have many stomata b. They do not have stomata
c. Their leaves are broad d. They have stems with air pockets
iv. | Sophia's village is near a swampy area. Which trees could be present there?
a. Peepal b. Coconut c. Cactus d. Mangroves
V. Out of 32 teeth, the number of pre-molars is
a. 4 b. 6 c.8 d. 12
Q.2 Fill in the blanks:
I Proteins are known as food.
ii. are given glucose by drip.
iii. | Paper was first made in Egypt from a grass called
iv. | We can get on touching electric gadgets with wet hands.
V. For nose bleeding, make the person sit on a chair holding his head slightly
Vi, is the outer layer of Earth.
vii. | The Earth takes hours to complete one rotation.
viii. | While giving first aid you should not
Q.3 Match the column:
I Bacteria a. Chicken pox
ii. | Virus b. Protein
iii. | Plaque c. Roughage
iv. | Fish d. Food stored in flower
V. Cabbage e. Yellow layer on teeth
vi. | Cauliflower f. Pneumonia
Q4 State whether True or False:
I Accidents do not happen at home.
ii. | Axisis an imaginary line that runs through the centre of the Earth.
iii. | The Earth takes 365 days and 16 hours for one revolution.
iv. | The rotation of Earth causes change in seasons.
V. Accidents do not happen at home.
vi. | We should always open the doors of our house for strangers.
vii. | The leaves of Banana tree are reduced as spines.
viii. | Venus flytrap has a jar-like shape.
Q.5 Identify the pictures and name them.
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Q.6 Answer in one word:

Mona is eating chips. Where should she throw the packet after eating the chips ?

Ravi saw a shiny planet in the evening. He saw that planet again early in the morning. Guess

the name the planet.




Which planet is farthest from the sun ?

iv. | While playing in the garden, Roma got stung by a wasp. Which item should she use for a wasp
sting ?
V. Mr. Thomas makes beautiful mats. Which member of the grass family does he uses to make it
?
vi. | Sophia visited Kerala with her family. Which tree will she see there ?
vii. | Raju was watching a Television program. He saw a desert and a plant in it. Do you know
which plant did he saw ?
Q.7 Short answer questions:
I What are the main causes of accidents?
ii. | What is photosynthesis?
iii. | What is a habitat? Name different habitat.
iv. | How do fungi obtain their food ?
Q.8 Write short notes on:
i. Pole Star
ii. Equator
iii. | Constellations
iv. | Crust
V. First aid
Q.9 Long answer questions:
I What precautions can you take to avoid accidents at school?
ii. | Why are patients given glucose by drip?
iii. | Peter was going to the market to buy medicines. His sister reminded him to check the date of
manufacturing and the date of expiry. Why ?
iv. | William was reading a book about our planet Earth. Can you describe to him, how Earth was

formed ?




SUB - SOCIAL STUDIES

Q.1

Choose the correct answer.

Winter season starts from .
i.March ii.May iii.November

The rivers Chambal, Betwa and Son originate in highland.
i.Northern ii. Western iii. Central

soil is best for growing rice.
i.Laterite i.Alluvial iii.Red

We need water for :
i.Bathing ii. Playing iii.Dancing

Gir wildlife sanctuary is in .
1.Gujrat Ii.Karnataka iii.Rajasthan

Vi

Mangrove forests are also called forests.
i.Tidal ii.Evergreen Iii.Mountain

vii

is the loss of top soil by strong winds, rainfall etc.
i.Soil Conservation ii.Soil erosion iii.Laterite soil

viii

The two rivers which flow east to west, one of its is Narmada and second is
i.Tapti ii.Yamuna iii.Ganga

The Bhakra Nangal Dam, the largest dam in India is built on the river:
i.Ganga ii.Gangotri iii.Satlej

The Himalayas have mountain ramges that run parallel to each other:
i.Four ii.three iii.Five

Q.2

Fill in the blanks:

The dense forest are home to many

The river flows through Kolkata.

are small hills of sand in the desert.

The Nomads of the Thar desert are called

is the main source of water.

Q.3

Give two examples of each:

River

Mountain

Dams

Forests

Wildlife Sanctuaries

Q4

Define the followings:

Oasis

Sand Dunes

Nomads

Soil Erosion

Deforestation

Q5

Correct and rewrite the following statements.

There are three kinds of natural resources.

Spring season starts from December.

Canals are multipurpose projects

Indira Gandhi Canal is in Jharkhand.

Desert solil is very fertile.

Q.6

On the political map of India mark the following:

Delhi

Jharkhand

Rajasthan

West Bengal

Madhya Pradesh

Q.7

Answer the following questions.

Write a short note on Summer season.

Define Mangrove forest.

What are the problems of deforestation?




iv Hoe are wells and tube wells are useful for us?

% What are multipurpose projects?

Vi How do the rivers in the Deccan plateau get water?
vii Describe the location of Thar desert.

viii Explain the extensions of the Northern plains.

SUBJECT: COMPUTER




Q.1 Choose the correct answer: -
1 | Flash drive is also known as drive.
a.Pencil b.Eraser c.Pen d.Car
2 | The computer can only understand language.
a.English b.Machine c.German d.French
3 folder displays the contents of the computer’s hard disk.
a.This PC b.Navigation  c.Computer d,Document
4 | To open afile just click on file or folder you want to open.
a.Left b.Single. c.Right d.Double
5 | The red wavy linr below the text indicates a
A,grammatical error ~ b.spelling mistake  c.conceptual mistake
6 | Making changes in the text in a document is called :
a.Editing b.Deleting c.Writing d.None of these
7 | The font size box is available on the
a.Insert b.Font c.Home d.None of these
8 Is displayed at the top of the PowerPoint window.
a.Title bar b.Comment c.Notes Pane  d.Ribbon
9 |A Is a pre formatted container on a slide for content.
A,Comment b. tab c.Placeholder  d.Ribbon
10 A is the page of the Power Point presentation.
a.Ribbon b.Tool c.Notes d.slides
Q.2 Fill in the blanks: -
1 |DVD stands for versatile Disc.
2 | The Is placed at the top area of the slide pane.
3 | The Undo button is present on the
4 | To select a word, on the word.
5 | __ meanschanging the appearance of a document,
6 |A is a small graphical symbol that sets off an item in a list.
7 | Hard disk of a computer is generally divided into partition known as
8 |A is a location for organizing and storing files.
9 |Windows10isa__ based operating system.
10 | The makes it easy to align text and objects on the slides.
Q.3 Write full forms: -
1 |ALU -
2 | CPU -
3 |RAM -
4 | UPS -
5 | ROM -
6 [CD-
7 |PD-




DVD -

USB -

LCD -

Write ‘T’ for True and ‘F’ for False

1 | Blu-—ray is the successor to DVD. ( )

2 | Inword 2016 you cannot select a line. ( )

3 | Title bar is a bar located at the bottom of a window. ( )

4 | RAM stands for Read Accept Memory. ( )

S | Title bar is a bar located at the bottom of a window. ()

6 | When you double click on the ‘This PC’ icon ,you can openit. ( )

7 | Ctrl + C command is used to paste the copied text. ( )

8 | The drop cap allows a user to enlarge a paragraph ( )
Write short cut keys

1 | Save

2 | Copy -

3 | Cut-

4 | Paste -

5 | Undo -

6 | Print -

7| Align left -

8 | Selectall -

9 | Redo -
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Align right
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